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1. /£ 1 EETE”% A RIDEN—EER - EEPEHE EDI
N BRI ? &
Outside the rlght triangle in the figure below, a circle can be
drawn. What is the shortest diameter of this circle?

4‘”’&"’

3cm

A. 3cm

B. 4cm
C. 5cm W@

@ D. 8cm
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2. ®11%Fm - B g - MELFEZ VR ? [{b
At 11 years ago, Siu Ming was at the age of g. How old =
was he last year?

A g+11
B. g-12
C.g-9

D. g+ 10
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3. BEEMNBEEZ0.57  —ARKalEm2.5EE M - —#l
RIKBEEZ VI ?
The capacity of each measuring cup is 0.5 liters. A
bottle of soda can fill 2.5 measuring cups. How many
liters does a bottle of soda hold?

AT

B
C. 1.25
D

™
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o 4 TENEVNENEEES)? Ig=
— What is the volume of gift box in the picture below? =2
£ 7

—14cm
II—Mn

A. 35cm3
B. 252cm?3
C. 336cm3
D. 483cm?
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1. C
2.D
3.C
4. C

NO



